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Q6. ________is the synonym of the word "RIPPLE". 
 

A. Tear apart B. Drop by drop 

C. Wave D. Break down 

 

Q7. _______is the antonym of the word "PRECIPITATION". 
 

A. Dryness B. Rainwater Storage 

C. Water Drainage D. Spraying of water 

 

Q8. Identify the meaning of the idiom "to touch base" 
 

A. Go back to the original place B. Analyse the problem and find the root cause 

C. Start from the basics D. Renew contact with someone or something 

 

Q9. The sentences have an incorrect phrase, which is shown in bold and underlined. Select the 
option that is the correct phrase to be replaced so that the statement is grammatically 
correct. 
 
"Abdul is studying for two hours." 

 

A. was studying B. studied 

C. has been studying D. No change required 

 

Q10. Complete the sentence by choosing the correct form of the verb given in brackets. 
 
The criminal_________(strike) a hard blow on Richard's head. 

 

A. Striked B. Struck 

C. Strikes D. Striken 

 

Q11. King Vikramaditya belonged to the _________ dynasty. 
 

A. Gupta B. Kushan 

C. Maurya D. Nanda 
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Q11. 1?�? ==्䵅/?=?त⑍0 =�9 =�> 9O }O? 
 

A. �Io, =�> B. �I ??+ =�> 

C. /L}/ =�> D. 0�. =�> 

 

Q12. Water future international conference was held in which city of India? 
 

A. Bengaluru B. Chennai 

C. New Delhi D. Mumbai 

Q12. .?1, �O  =�9 >:1 /O �ल .==�0 �? 
�,1?थ�रI0 9म⹍/Oल0 �0K=�, =�0? �0? }?? 
 

A. -े䜂�;Iy B. �Om0� 

C. 0� /.ल㉍;I D. /I�-� 

 

Q13. Gandhi Sagar dam is built on which river? 
 

A. Narmada river B. Mahi river 

C. Chambal river D. Kaveri river 

Q13. �?�/I 9?�1 -?�/ =�9 0?I +1 -0?0? �0? :P? 
 

A. 0//.? 0.I B. /?AI 0.I 

C. ��-; 0.I D. �?=O9I 0.I 
 

Q14. Which schedule of the Indian Constitution has the list of States and Union Territories? 
 

A. First B. Fifth 

C. Second D. Seventh 

Q14. .?1,I0 9�==/?0 �ी =�9 
0J9K�I /O 1?जᱍ0K �1 �O � >?=9, �?O>K �ी 9K�I :P? 
 

A. +A;I B. +?��= � 

C. .@ू9I D. @?,= � 
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Q15. Who appoints the Attorney General of India? 
 

A. Chief Election Commissioner of India B. President of India 

C. Prime Minister of India D. Chief Justice of India 

Q15. .?1, �O  /:?m0?0=??I (
ट?0I �01ल) �ी =00J=ि �L0 �1,? :P? 
 

A. .?9, �O  /I_} �I0?= �}I], B. .?9, �O  9?�र+-, 

C. .?9, �O  ्䵚/?0 /�्䵔  D. .?9, �O  /I_} m}?}?/ > 

 

Q16. When was the third battle of Panipat fought? 
 

A. 1761 B. 1782 

C. 1756 D. 1764 

Q16. +?0I+, �? ,I91? 0Jp �- लड़? �0? }?? 
 

A. 1761 B. 1782 

C. 1756 D. 1764 

 

Q17. Where did King Harshavardhana establish his capital in Kurukshetra in 700 AD? 
 

A. Pehowa B. Thanesar 

C. Ladwa D. Jhansa 

Q17. 700 �}=I /O �J y�O} /O 1?�? :}थ=/थ0 0O 
+0I 1?�/?0I �:?? }}?=+, �ी }I? 
 

A. +OAK=? B. -?0O@9 

C. ;?!=? D. �?�@? 
 

Q18. As on 1-December-2019, who holds the portfolio of Finance in the current cabinet of 
Haryana? 

 

A. Captain Abhimanyu B. Shri Manohar Lal Khattar 

C. Shri Om Prakash Dhankar D. Shri Krishna Lal Panwar 
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Q18. 1 =?9�-1 2019 /O, :र10?+? �O  =,थ/?0 /�=}/�)ल /O ==m /�}?ल0 �? �.?1 =�9�O  +?9 }?? 
 

A. �P o�0 
-./m}I B. ्䵦  /0KA9 ;?; �टὍ�9 

C. ्䵦  �/ ्䵚�?> /0�डℼ D. ्䵦  �ृ�+ ;?; +�=?9 
 

Q19. Haryana Legislative Assembly elections 2019 were held on ________. 
 

A. 27th October 2019 B. 15th October 2019 

C. 21st October 2019 D. 30th October 2019 

Q19. :र10?+? ==/?0 9.? �J0?= 2019 ________ +1 �0K=�, =�ए �ए }O। 
 

A. 27 
]�ू-9 2019 B. 15 
]�ू-9 2019 

C. 21 
]�ू-9 2019 D. 30 
]�ू-9 2019 

 

Q20. India's first ecofriendly rally was organized in which district of Haryana? 
 

A. Rohtak B. Faridabad 

C. Gurugram D. Ambala 

Q20. .?1, �ी +:लI ��K्䵛O )लI 1PलI :र10?+? �O  =�9 =�लO /O �0K=�, �ी �� }I? 
 

A. 9KA,� B. ,9I.?-?. 

C. �Iy्䵇?/ D. 
�-?;? 
 

Q21. Haryana police received smart police award - 2019 by __________. 
 

A. Ministry of Human Resource Development B. Central Bureau of Investigation (CBI) 

C. Federation of Indian Chambers of Commerce 

and Industry (FICC) 

D. National Safety Council 

Q21. :र10?+? +J=ल9 �K __________ �?1? }/?टथ +J=ल9 +J1}�?1 - 2019 �?्䵎 :ु�। 
 

A. /?0= @�@?/0 ==�?@ /�्䵔?;} B. �े䜂 ्䵖I} �?�� बⱍ}9ूK (CBI) 

C. .?9, } =?++जᱍ} �9 �द♍}K� /A?@�  (FICC) D. 9?�रI} @I9�? +99?. 
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Q22. Which farmer from Haryana received an award by the International Commission on 
Irrigation and Drainage (ICID)? 

 

A. Shri Krishna Singh B. Shri Karanjit Singh Chadda 

C. Shri Jasbir Singh Chautala D. Shri Harpal Singh Kohli 

Q22. :र10?+? �O  =�9 =�9?0 �K =9��?� �1 ्䵑O0O� (ICID) +1 
�,1?थ�रI0 �0K� �?1? +J1}�?1 =/ल?? 
 

A. ्䵦  �ृ�+ -@�A B. ्䵦  �90� , -@�A �ड⅍!? 

C. ्䵦  �@- 9 -@�A �L�?;? D. ्䵦  A9+?; -@�A �KA;I 
 

Q23. Which Saint-poet was born in Sihi village of Haryana? 
 

A. Surdas B. Haridas 

C. Nischal Das D. Banwari Das 

Q23. :र10?+? �O  9I:I �??= /O =�9 9�,-�== �? �m/ :ु� }?? 
 

A. @9ू.?@ B. A99.?@ 

C. -0��; .?@ D. -0=?9I .?@ 

 

Q24. Which is the first novel written in Haryanvi language? 
 

A. Amanant Ek Shahi Ki B. Seep Kamoti 

C. Jadufiri D. Lal Dhoop 

Q24. :र10?+=I .?}? /O =ल�? �0? +:ल? �+m0?9 �L0 9? :P? 
 

A. 
/?0, ए� >?AI �I B. @ + �/K,  

C. �?!ू+,9I D. ;?; /+ू 

 

Q25. Who was bestowed with the title of “the state poet of Haryana", when Haryana was carved 
out as a new state in 1966? 

 

A. Shri Raja Ram Shastri B. Pt. Neki Ram Sharma 

C. Shri Uday Bhanu Hans D. Shri Bishambar Nath Kaushik 
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Q25. �- 1966 /O :र10?+? �K ए� 0ए 1?जᱍ0 �O  z+ /O ,1?>? �0? }? ,-, ":र10?+? �O  1?जᱍ0 �==" �ी �+?=/ 9O =�9O 9म⹍/?=0, =�0? 
�0?? 

 

A. ्䵦  9?�? 9?/ >?}्䵔  B. +�)!, 0O�I 9?/ >/?/ 

C. ्䵦  �.}.?0I A�@ D. ्䵦  -->म⹍-90?- �L->� 

 

Q26. Which of the following was written by Shri Chand Bardai? 
 

A. Shyam Sat Sai B. Tiriya Ke Masmoon 

C. Prithvi Raj Raso D. Sur Sagar 

Q26. =0म⹍0=ल=�, /O 9O ]0? ्䵦I ��? -1??� �?1? =ल�? �0? }?? 
 

A. �}?/ @, @?ࠂई B. -,99}? �O  /@/ू0 

C. +mृ=  9?� 9?@K D. @I9 @?�9 
 

Q27. Which one of the following rivers does NOT flow through Haryana? 
 

A. Ghaggar B. Sahibi 

C. Dohan D. Beas 

Q27. =0म⹍0=ल=�, /O 9O �L0 9I 0?I :र10?+? /O �=?=:, 0:K :K,I :P? 
 

A.  _�9 B. @?/A-  

C. .KA?0 D. बⱍ}?@ 

 

Q28. Which is the highest mountain peak in Haryana? 
 

A. Karoh Peak B. Garoh Peak 

C. Tosa Peak D. Trosher Peak 

Q28. =0म⹍0=ल=�, /O 9O :र10?+? �ी 9-9O �? �I +=थ, �KटI �L0 9I :P? 
 

A. �9KA ->�9 B. �9KA ->�9 

C. ,K@? ->�9 D. रI>9 ->�9 
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Q29. Yamuna flows along the _________ boundary of Haryana. 
 

A. Northern B. Southern 

C. Western D. Eastern 

Q29. 0/J0? :र10?+? �O  =�9 9I/? �O  9?} -:,I :P? 
 

A. �्䵈9I B. .्䵌�+ 

C. +���/  D. +=ूी 
 

Q30. Sannihit Sarovar a sacred water reservoir is situated in which district of Haryana? 
 

A. Gurugram B. Kurukshetra 

C. Ambala D. Rewari 

Q30. 9?=m0=:, 91K=1, ए� +==} �ल?>0 :र10?+? �O  =�9 =�लO /O =}}, :P? 
 

A. �Iy्䵇?/ B. �I y�O्䵔 

C. 
�-?;? D. 9O=?डℼ  
 

Q31. Who amongst the following has all the executive powers of the State Government? 
 

A. Chairman of Legislative Assembly B. Governor of the state 

C. Chief Minister of state D. Deputy Chief Minister of state 

Q31. =0म⹍0=ल=�, /O 9O =�9�O  +?9 1?जᱍ0 91�?1 �ी 9.I �?0थ�?1I >=ि0?? :ै䠂? 
 

A. ==/?0 @.? �O  
o}� B. 9?जᱍ} �? 9?जᱍ}+?; 

C. 9?जᱍ} �O  /I_}/�्䵔  D. 9?जᱍ} �O  �+ /I_}/�्䵔  
 

Q32. The current assembly of Haryana is the __________. 
 

A. eleventh legislative assembly B. thirteenth legislative assembly 

C. twelfth legislative assembly D. fourteenth legislative assembly 
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Q32. =,थ/?0 /O :र10?+? /O �L0 9I ==/?09.? �ल 1:I :P? 
 

A. _}?9A= � ==/?0 @.? B. ,O9A= � ==/?0 @.? 

C. -?9A= � ==/?0 @.? D. �L.A= � ==/?0 @.? 
 

Q33. Which city of Haryana is known as "City of Weavers"? 
 

A. Rewari B. Rohtak 

C. Hisar D. Panipat 

Q33. :र10?+? �O  =�9 >:1 �K "-J0�1K �? >:1" �:? �?,? :P? 
 

A. 9O=?डℼ  B. 9KA,� 

C. /A@?9 D. +?0 +, 

 

Q34. Which of the following trees can be mainly found in the Kalesar forest? 
 

A. Peepal B. Sal 

C. Eucalyptus D. Babul 

Q34. =0म⹍0=ल=�, /O 9O �L0 9O +Oड़ /J_0 z+ 9O �लO91 =0 /O +?ए �? 9�,O :ै䠂? 
 

A. + +; B. @?; 

C. }I�-;o�I@ D. -?-I; 

 

Q35. Crocodile Breeding Centre is situated in _______ district of Haryana. 
 

A. Faridabad B. Ambala 

C. Kurukshetra D. Panipat 

Q35. /�1/चᩍ� ��00 �O � :र10?+? �O  �L0 9O =�लO /O =}}, :P? 
 

A. ,9I.?-?. B. 
�-?;? 

C. �I y�O्䵔 D. +?0 +, 
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Q36. A device that transfers real pictures or documents into a computer generated file. 
 

A. Scanner B. Printer 

C. Mouse D. Keyboard 

Q36. ए� �+�1+ �K �� प⩍0Kट1 �=0, फ?�ल /O =?},==� =�}K 0? ?},?=O�K �K }}?0?�,र1, �1,? :P, �9O ]0? �:,O :ै䠂? 
 

A. }�P 09 B. =्䵚��9 

C. /?�@ D. �I-K!/ 
 

Q37. Which amongst the following is NOT the function of operating system? 
 

A. Memory management B. Process management 

C. File management D. Virus management 

Q37. =0म⹍0=ल=�, /O 9O ]0? ऑ+1O=ट�� =9}ट/ �? �?0थ 0:K :P? 
 

A. /O/K9I /P0O�/े䜂� B. ्䵚K@O@ /P0O�/े䜂� 

C. ,?�; /P0O�/े䜂� D. =?}9@ /P0O�/े䜂� 

 

Q38. Which of the following is an input as well as an output device? 
 

A. Mouse B. Central Processing Unit 

C. Touch screen D. Keyboard 

Q38. =0म⹍0=ल=�, �+�1+K /O 9O ]0? ए� �0+Jट �O  9?}-9?} ए� ��ट+Jट =)=?�9 .I :P? 
 

A. /?�@ B. @े䜂र; ्䵚K@O-@�� }ू-0� 

C. �� }रI0 D. �I-K!/ 
 

Q39. To send and receive e-mails, you have to first _______ your e-mail account. 
 

A. Sign out B. Log-off 

C. Log-in D. Delete 
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Q39. �-/Oल .O�0O �1 �?्䵎 �10O �O  =लए, �+�K +:लO 
+0? �-/Oल �?,? _______ �10? :K�?। 
 

A. @?�0 ��� B. ;I� ऑ, 

C. ;I� �0 D. )!;I� 

 

Q40. Pick the odd one out. 
 
Pear, Guava, Apple, Orange 

 

A. Pear B. Apple 

C. Orange D. Guava 

Q40. =0म⹍0=ल=�, /O 9O ==}/ �? �00 �1O। 
 

0?>+?,I, 9O-, 9�,1?, 
/z?। 
 

A. 0?>+?,  B. @O- 

C. @�,9? D. 
/z. 

 

Q41. ? :DJUZ : : Q S U W : T V X Z 
 

A. AGRW B. ADEG 

C. ACDG D. ADDG 

Q41. ? :DJUZ : : Q S U W : T V X Z 
 

A. AGRW B. ADEG 

C. ACDG D. ADDG 

 

Q42. Look at this series: 20.5, 19, 17.5, _, 14.5 
 
What is the missing number? 

 

A. 15 B. 16 

C. 11.5 D. 15.5 
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Q42. �9 ्䵦र��ल? �K ?O�O : 20.5, 19, 17.5, _, 14.5 
 

=0म⹍0=ल=�, 9�_0?� � /O 9O र1ि }}?0 +1 �L0 9I 9�_0? �ए�I? 
 

A. 15 B. 16 

C. 11.5 D. 15.5 

 

Q43. If HUGE is coded as 2785, HEARD is coded as 25146, how can be RUDE coded in that 
language? 

 

A. 4775 B. 4657 

C. 4675 D. 4765 

Q43. 0=? HUGE �K 2785 �O  z+ /O =ल�? �?,? :P, �1 HEARD �K 25146 �O  z+ /O =ल�? �?,? :P, ,K �9 .?}? /O 
RUDE �K �P 9O =ल�? �?ए�?? 

 

A. 4775 B. 4657 

C. 4675 D. 4765 

 

Q44. Find the value of x in the equation:x-6=4x-12. 
 

A. 6 B. 4 

C. 2 D. -4 

Q44. 9/I�1+ /O x �? /?0 _?, �ी=�ए: x-6=4x-12| 
 

A. 6 B. 4 

C. 2 D. -4 

 

Q45. Raman purchased 10 toys at the rate of Rs. 400 per toy. He sold each one of them at the 
rate of Rs. 55. What was his profit or loss? 

 

A. Profit of Rs 15 B. Profit of Rs 10 

C. Loss of Rs 15 D. Loss of Rs 10 
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Q45. 1/0 0O 400 y+0O �=, =�लL0O �ी ?1 9O 10 =�लL0O �1I?O । �90O �0/O 9O �त⑍0O� �K 55 y+0O �ी ?1 9O -O�? । �9 +K1O लO0 ?O0 /O 
�9�ी ल?. 0? :?=0, ]0? }I? 

 

A. 15 y+}O �? ;?. B. 10 y+}O �? ;?. 

C. 15 y+}O �? 0I�@?0 D. 10 y+}O �? 0I�@?0 

 

Q46. Paresh scored 780 marks out of a total of 800 in his board exams. What is the percentage 
of his marks? 

 

A. 98.5 % B. 85.5 % 

C. 97.5 % D. 83.25 % 

Q46. +1O> 0O 
+0I -K)थ +1I�? /O �J ल 800 /O 9O 780 
�� :?=9ल =�ए। �9�O  
��K �? �=,>, =�,0? :P? 
 

A. 98.5 % B. 85.5 % 

C. 97.5 % D. 83.25 % 

 

Q47. If the ratio of chocolates to ice-cream cones in a box is 7:9 and the number of chocolates is 
28, find the number of ice-cream cones. 

 

A. 40 B. 27 

C. 18 D. 36 

Q47. 0=? =�9I -Q]9 /O ��9्䵅ी/ �K0 �O  =लए �Q�लOट �? 
0J+?, 7: 9 :P �1 �Q�लOट �ी 9�_0? 28 :P, ,K ��9्䵅ी/ �K0 �ी 
9�_0? _?, �ी=�ए। 

 

A. 40 B. 27 

C. 18 D. 36 

 

Q48. Which amongst the following converts chemical energy into electrical energy? 
 

A. Charger B. Motor 

C. Generator D. Batteries 

Q48. =0म⹍0=ल=�, /O 9O �L0 1?9?0=0� ��?थ �K ==oJ, ��?थ /O +र1==,थ, �1,? :P? 
 

A. �?�/9 B. /K�9 

C. �09O�9 D. -P�9I 
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Q49. The process of changing gas into liquid is called _________. 
 

A. Condensation B. Evaporation 

C. Sublimation D. Deposition 

Q49. =0म⹍0=ल=�, /O 9O �P9 �K ,1ल /O -?ल0O �ी �=्䵅0? �K ]0? �:? �?,? :P? 
 

A. @��O+0 B. .?+ 

C. �o=/+?,0 D. -0�O+ 

 

Q50. Which part of the human body converts carbohydrates to glucose during digestion? 
 

A. Liver B. Pancreas 

C. Salivary glands D. Gastric glands 

Q50. /?0= >1I1 �? �L0 9? .?� +?�0 �O  ?L1?0 �?-K:?�्䵑Oट �K >�थ 1? /O +र1==,थ, �1,? :P? 
 

A. }�ृ, B. 
_m}?>} 

C. ;?9 ्䵇�--}?� D. �P�}र� ्䵇�--}?� 
 

Q51. Which part of trading and profit/loss account should be included in the debit column? 
 

A. Purchases B. Sales 

C. Closing Stock D. Commission Received 

Q51. रO)K� �1 ल?./:?=0 �?,O �? �L09? =:}9? )O=-ट },�. /O >?=/ल =�0? �?0? �?=:ए? 
 

A. �9I.?9I B. - रI 

C. ];K-@�� }�I� D. ्䵚?o, �-/>0 

 

Q52. Which expense is paid in advance in the normal course of business operations? 
 

A. Rent on building B. Salary 

C. Postpaid D. Prepaid 
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Q52. 9?/?m0 }0?=9?0 }0=:?1 /O �L09O ��O �? .J�,?0 
=ि/ =�0? �?,? :P? 
 

A. �/?9, �? +�9?}? B. =O,0 

C. +K}�+O! D. =्䵚+O! 

 

Q53. Which entry is to be passed if Rahul purchased office furniture for Rs. 1,00,000 and made 
the payment by cheque? 

 

A. Purchase A/c Dr. 1,00,000 

To Bank 1,00,000 

B. Purchase A/c Dr. 1,00,000 

To Cash 1,00,000 

C. Furniture A/c Dr. 1,00,000 

To Cash 1,00,000 

D. Furniture A/c Dr. 1,00,000 

To Bank 1,00,000 

Q53. 0=? 1?:ुल 0O y. 1,00,000 �? �?0?थल0 ,=0थ�1 �1I?? �1 .J�,?0 �O� 9O =�0? ,K 0: �===ि �P 9O �ी �?ए�I? 
 

A. �?9I.?9I �?,? Dr. 1,00,000 

्䵚-, -ै䠂� 1,00,000 

B. �?9I.?9I �?,? Dr. 1,00,000 

्䵚-, 0�. 1,00,000 

C. ,-0/�9 �?,? Dr. 1,00,000 

्䵚-, 0�. 1,00,000 

D. ,-0/�9 �?,? Dr. 1,00,000 

्䵚-, -ै䠂� 1,00,000 

 

Q54. Which formula should be used for calculation of Cost of Goods Sold? 
 

A. Cost of Goods Sold = Sales + Direct Expenses - 

Closing Stock 

B. Cost of Goods Sold = Purchases + Indirect 

Expenses - Closing Stock 

C. Cost of Goods Sold = Purchases + Direct 

Expenses - Closing Stock 

D. Cost of Goods Sold = Purchases + Direct 

Expenses - Opening Stock 

Q54. -O�O �ए /?ल �ी ल?�, =�00O �O  =लए �L09? 9K} �0K� �10? �?=:ए? 
 

A. -O�O �ए /?; �I ;?�, = - रI + ्䵚m}� }}} - >O? /?; B. -O�O �ए /?; �I ;?�, = �9I.?9I + 
्䵚m}� }}} - >O? 

/?; 

C. -O�O �ए /?; �I ;?�, = �9I.?9I + ्䵚m}� }}} - >O? 

/?; 

D. -O�O �ए /?; �I ;?�, = �9I.?9I + ्䵚m}� }}} - 

्䵚?9�-.� /?; 

 
 
 
 

www.mseducationtv.com



 

Adv. No. 11/2019, Cat No. 14, Upper Divisional Clerk (Field Cadre), 

DHBVN, UHBVN & HVPNL DEPARTMENT, HARYANA 

Evening Session 
 

February 27, 2020  Page 16 of 27 

 

Q55. Which formula should be used for calculation of Net Profit? 
 

A. Net Profit = Gross Profit + All Incomes - 

Indirect Expenses 

B. Net Profit = Gross Profit + Other Incomes - 

Indirect Expenses 

C. Net Profit = Gross Profit + Other Incomes - 

Direct Expenses 

D. Net Profit = Gross Loss + Other Incomes - 

Indirect Expenses 

Q55. >Jp ल?. =�00O �O  =लए �L09? 9K} �0K� �10? �?=:ए? 
 

A. >Iद♍/ ;?. = �I ; ;?. + @.  �} - 
्䵚m}� }}} B. >Iद♍/ ;?. = �I ; ;?. + 
m} �} - 
्䵚m}� }}} 

C. >Iद♍/ ;?. = �I ; ;?. + 
m} �} - ्䵚m}� }}} D. >Iद♍/ ;?. = �I ; ;?. + 
m} �} - 
्䵚m}� }}} 

 

Q56. Which Entry should be passed in the books of accounts for closing of items of expenses, 
losses etc.? 

 

A. Expenses (individually) A/c Dr. 

Losses (individually) A/c Dr. 

To Profit and Loss A/c 

B. Profit and Loss A/c Dr. 

To Expenses (individually) A/c 

To Losses (individually) A/c 

C. Profit and Loss A/c Dr. 

To profit (individually) A/c 

To Income (individually) A/c 

D. Profit and Loss A/c Dr. 

To Commission received (individually) A/c 

To Rent Received (individually) A/c 

Q56. }00, :?=0 =�P1? �O  ]लK=��� �0टम⹍9 �O  =लए �?,O-:I /O �L09I �===ि �10I �?=:ए? 
 

A. }}} (
;�-
;�) �?,? Dr. 

A?-0 (
;�-
;�) �?,? Dr. 

्䵚-, ;?. �9 A?-0 �?,? 

B. ;?. �9 A?-0 �?,? Dr. 

्䵚-, }}} (
;�-
;�) �?,? 
्䵚-, A?-0 (
;�-
;�) �?,? 

C. ;?. �9 A?-0 �?,? Dr. 

्䵚-, ;?. (
;�-
;�) �?,? 
्䵚-, �} (
;�-
;�) �?,? 

D. ;?. �9 A?-0 �?,? Dr. 

्䵚-, ्䵚?o, �-/>0 (
;�-
;�) �?,? 
्䵚-, ्䵚?o, +�9?}? (
;�-
;�) �?,? 

 

Q57. How many basic requirements exist for a computerised accounting system? 
 

A. Two B. Three 

C. Four D. Five 
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Q57. �� प⩍0Jट1?�जᱍ) 
�?�� =ट�� =9}ट/ (�म⹍प⩍0Kट1�र , लO�? �+?लI) �O  =लए /Kल.K, �=�0�,?ए? =�,0I :P? 
 

A. .K B. , 0 

C. �?9 D. +??� 

 

Q58. Which entry should be passed for rent received in advance? 
 

A. Debit profit and loss account and Credit rent 

account 

B. Debit rent account Credit rent received in 

advance account 

C. Debit rent received in advance account and 

Credit rent account 

D. None of these 

Q58. 
=ि/ �?्䵎 =�1?ए �O  =लए �L09I �===ि �ी �?ए�I? 
 

A. ;?. �9 A?-0 �?,? !O--� �9 +�9?}? �?,? रO ! � B. +�9?}? �?,? !O--� �9 
-्䵇/ ्䵚?o, +�9?}? �?,? रO ! � 

C. 
-्䵇/ ्䵚?o, +�9?}? �?,? !O--� �9 +�9?}? �?,? रO ! � D. �0/े䜂 @O �I � .  0AI� 
 

Q59. Which activity is not covered under economic activities? 
 

A. Trading in goods B. Professional 

C. Social Services D. Production 

Q59. �=}थ� �=,===/ /O �0/O 9O �L09I �=,===/ 0:K �,I :P? 
 

A. /?; }}?+?9 B. }}=@?-}� 

C. @/?� @O=?ए? D. �m+?.0 

 

Q60. Which activity is not covered under business activities? 
 

A. Work in a factory for wages B. Production of goods 

C. Transportation D. Exchange of goods 

Q60. }0=:?1 �=,===/ /O =0म⹍0 /O 9O �L09I �=,===/ 0:K �,I :P? 
 

A. =O,0 �O  -;ए �?9�?0O /े䜂 �?/ �90? B. /?; �? �m+?.0 

C. +99=A0 D. /?; �? �.?0-्䵚.?0 
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Q61. Which of the following activities does not support trade? 
 

A. Mining B. Banking 

C. Warehousing D. Insurance 

Q61. =0म⹍0 /O 9O �L09I �=,===/ }0?+?1 �? 9/}थ0 0:K �1,I? 
 

A. �-0�// B. -P+�� � 

C. .o!?9+ D. - /? 
 

Q62. Which of the following functions is not related to management? 
 

A. Organising B. Planning 

C. Controlling D. Insurance 

Q62. =0म⹍0 /O 9O �L09O �?0थ �-�/0 9O 9�-=/, 0:I :P? 
 

A. �}K�0 B. }K�0 

C. -0}�्䵔+ D. - /? 
 

Q63. Which of the following items do not cause a business risk? 
 

A. Riot B. Efficient management 

C. Breakdown of machinery D. All of the above 

Q63. =0म⹍0 /O 9O =�9 �I� 9O }0=9?0 �K=�/ 0:K ?O,? :P? 
 

A. .��? B. �?}/�/ ्䵚-�/0 

C. }�्䵔 --�!0? D. �+9I @.  
 

Q64. How do you define management? 
 

A. A combination of both art and science B. Art 

C. Science D. Neither Art nor Science 
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Q64. �-�/0 �ी +र1.?}? �+ �P 9O �1O�O? 
 

A. �;? �9 ==_?0 .K0ो䬂 �? @��/ B. �;? 

C. ==_?0 D. �;? }? ==_?0 .K0ो䬂 .  0AI� 
 

Q65. Which of the following is not a part of transmission medium? 
 

A. Data transfer over a network B. Data not transfer over a network 

C. Data transfer over a computer D. None of the above 

Q65. =0म⹍0 /O 9O �L09? �O}+ /?o0/ �? =:}9? 0:K :P? 
 

A. 0O�=�/  @O !O�? ्䵚O?+ B. 0O�=�/  @O !O�? ्䵚O?+ 0AI� 

C. �� o}I�9 @O !O�? ्䵚O?+ D. �+9I /े䜂 @O �I � .  0AI� 
 

Q66. What are the characteristics of Unshielded Twisted Pair (UTP)? 
 

A. It is a low-cost cable available for setting up 

small networks 

B. It is a thin (External diameter app. 0.43cm) 

and flexible cable and therefore it offers ease of 

installation. 

C. It can carry data upto a length of 100m at a 

stretch 

D. All of the above 

Q66. 
0=>ल㉍)O) टM==}टO) +O01 (UTP) (1�?:I0 }0?==,थ, 0J_/) �ी ==>O},?ए? ]0? :P? 
 

A. }A ए� �/ ;?�, �I �O -; AP �K �K�O 0O�=�/  �I }-?+0? 
�O  -;ए �+;बⱍ/ AP| 

B. }A ए� +,;I (-?A9I }}?@ ;�.� 0.43cm) AP �9 
;-�;I AP �9 }-?+0? �@?0  @O AK @�,  AP| 

C. }A ए�AI -?9 /े䜂 100m ;�-?� ,� !O�? ;O �? @�,  AP| D. �+9I @.  
 

Q67. Which are the benefits of an XML file? 
 

A. It can share data between two entirely different 

platforms 

B. It can share data between two entirely similar 

platforms 

C. Both Option A and B D. It can share data within a platform 
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Q67. XML ,?�ल �O  ल?. ]0? :P? 
 

A. .K ++ू/ y+ @O ==-.m0 o;P�,?//+9 !O�? >O}9 �9 @�,  AP B. .K ++ू/ y+ @O @/?0 o;P�,?//+9 !O�? >O}9 �9 @�,  AP 

C. ==�ल㉍+ A �9 B .K0ो䬂 D. +�@  ए� o;P�,?// �O  
�.9 !O�? >O}9 �9 @�,  AP 
 

Q68. Which of the following is used to write HTML tags? 
 

A. [] B. () 

C. {} D. <> 

Q68. =0म⹍0 /O 9O �L09? HTML टP_� =ल�0O /O �0K� :K,? :P? 
 

A. [] B. () 

C. {} D. <> 

 

Q69. Which of the following values should never be accepted? 
 

A. NIL B. NULL 

C. NOT NULL D. None of the above 

Q69. =0म⹍0 /O 9O �L09O /Kल㉍0 �.I .I }=I�र , 0:K =�ए �?0O �?=:ए? 
 

A. NIL B. NULL 

C. NOT NULL D. �+9I /े䜂 @O �I � .  0AI� 
 

Q70. ___________ is concerned with decision-making by individual economic agents such as 
firms and consumers. 

 

A. Macroeconomics B. Microeconomics 

C. Empirical economics D. None of the above 

Q70. _________�� +0I �1 ि?:� �P9O }0=ि�, �=}थ� ए��टK 0O =0+थ0 लO0O 9�-�=/, :P| 
 

A. }}?+� 
-/>?}्䵔 B. @ूቌ䲚/ 
-/>?}्䵔 

C. ्䵚}K�-@द♍/ 
-/>?}्䵔 D. �+9I /े䜂 @O �I � .  0AI� 
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Q71. Economic efficiency include: 
 

A. Allocative efficiency B. Productive efficiency 

C. Distributive efficiency D. All of the above 

Q71. �=}थ� �?0थ�/,? /O >?=/ल :P: 
 

A. �=��0 �?}/�/,? B. �+�?� �?}/�/,? 

C. ==,9+ �?}/�/,? D. �+9I @.  
 

Q72. _________ states that as price increases (decreases) consumers will purchase less (more) 
of the specific commodity. 

 

A. The Law of Demand B. The Law of Supply 

C. The Law of Sale D. The Law of Purchase 

Q72. 0=? �ी/, -*,I ( ट,I) :P ,K �9 /?ल �ी ि?:� �/ (जᱍ0???) �1I??1I �1O�O 0: ___________ -,?,? :P| 
 

A. /??� �? -@द♍/?�, B. �+-ू,/ �? -@द♍/?�, 

C. - रI �? -@द♍/?�, D. �9I. �? -@द♍/?�, 

 

Q73. What is the meaning of demand for commodity? 
 

A. Amount of the commodity demanded at a 

particular price and at a particular time 

B. Need for the commodity 

C. Desire for the commodity D. Bulk demand of commodity 

Q73. /?ल �ी /??� �? /,ल- ]0? :P? 
 

A. ए� ==>O? �I/, +9 �9 ए� ==>O? @/} +9 /?; �I /?्䵔? 
�I /??� 

B. /?; �I �=�}�,? 

C. /?; �I ��?��? D. /?; �I -K� /??� 

 

Q74. What is the meaning of supply of goods? 
 

A. Total stock in the warehouse B. Stock available for sale 

C. Quantity of the good offered for sale at a 

particular price per unit of time 

D. Actual Production of the good 
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Q74. /?ल �ी �+K=,थ �? /,ल- ]0? :P? 
 

A. .o!?9+ /े䜂 �I ; /?; B. - रI �O  -;ए �+;बⱍ/ /?; 

C. ्䵚-, ��?� ए� ==>O? �I/,+9 ए� ==>O? @/} +9 /?; �I 
.I �?0O=?;I /?्䵔? 

D. /?; �? =?},==� �m+?.0 

 

Q75. Which of the following is the cost of producing a good or service, including the cost of all 
resources used? 

 

A. Physical cost B. opportunity cost 

C. Real cost D. Production cost 

Q75. =0म⹍0 /O 9O �L09? 9.I ኚ验K,K �ी ल?�, >?=/ल �1 =�9I .I /?ल 0? 9O=? �त⑍+??0 �ी ल?�, :P? 
 

A. .L-,� ;?�, B. 
=@9 ;?�, 

C. =?},==� ;?�, D. �m+?.0 ;?�, 

 

Q76. Which of the following is the difference between total receipts and total expenditure? 
 

A. Capital deficit B. Budget deficit 

C. Fiscal deficit D. Revenue deficit 

Q76. =0म⹍0 /O 9O �J ल �?=्䵎 �1 �J ल }00 �O  -I� �? 
�,1 ]0? :P? 
 

A. +ू?�  /े䜂 �/  B. -�O� /े䜂  ?�? 

C. 9?��K? }  ?�? D. 9?�}=  ?�? 
 

Q77. How do you determine demand? 
 

A. Basis of Price B. Basis of Quantity 

C. Basis of Supply D. None of the above 

Q77. �+ /??� �P 9O ,0 �1,O :P? 
 

A. �I/, �O  �/?9+9 B. /?्䵔? �O  �/?9+9 

C. �+-ू,/ �O  �/?9+9 D. �+9I /े䜂 @O �I � .  0AI� 
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Q78. How do you determine Supply? 
 

A. Actual production of the good B. Total stock in the warehouse 

C. Quantity of the good offered for sale at a 

particular price per unit of time 

D. Stock available for sale 

Q78. �+ �+K=,थ �P 9O ,0 �1,O :P? 
 

A. /?; �? =?},==� �m+?.0 B. .o!?9+ /े䜂 �I ; /?; 

C. ए� ==>O? �I/,+9 ए� @/} �I ��?� /े䜂 /.ए �?0O=?;O 
/?; �I /?्䵔? 

D. - रI �O  -;ए �+;बⱍ/ /?; 

 

Q79. In case of loss due to theft, fire or any other reason, which account will be credited? 
 

A. Profit & Loss Account B. Purchase account 

C. Sales account D. None of the above 

Q79. �K1I, �� 0? 
m0 =�9I �?1+ 9O :?=0 :K,I :O ,K �L09? �?,? ्䵅O )Iट =�0? �?ए�?? 
 

A. ;?. �9 A?-0 �?,? B. �9I.?9I �?,? 

C. - रI �?,? D. �+9I /े䜂 @O �I � .  0AI� 
 

Q80. Bad debts, recovered, will be treated as: 
 

A. Profit B. Loss 

C. Either (A) or (B) depending on amount 

recovered 

D. None of the above 

Q80. )J-�, �+, =?=+9 +?ए �ए, ,K �m:O 0: 9/�? �?ए�?: 
 

A. ;?. B. A?-0 

C. ्䵚?o, 9?-> �O  
0I@?9 (A) }? (B) D. �+9I /े䜂 @O �I � .  0AI� 
 

Q81. Trial balance can be prepared using _______ methods. 
 

A. Two B. Three 

C. Four D. None of the above 
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Q81. >O}-+1I�+ (र?0ल -PलOm9) _______ ,1I�O  �? �0K� �1 -0?0? �? 9�,? :P| 
 

A. .K B. , 0 

C. �?9 D. �+9I /े䜂 @O �I � .  0AI� 
 

Q82. Find the value of closing stock looking at the details below: 
Opening stock 10000 
Sales 50000 
Gross Profit is 25% on sales 
Purchase 50000 

 

A. 22500 B. 20000 

C. 19500 D. 21500 

Q82. =0म⹍0 ===1+ �K ?O��1 >O} /?ल �? /Kल㉍0 -,?ए?: 
�1�=.� /?ल 10000 

-I्䵅ी 50000 

-I्䵅ी+1 �J ल ल?. :P 25% 

�1I? 50000 
 

A. 22500 B. 20000 

C. 19500 D. 21500 

 

Q83. On 1st April 2019, Amit purchased a machinery for 50,000. The useful life of the 

machinery is 5 years . At the end of 5 years, its scrap value is estimated to be 5000. Its 
capacity to work is 20,000 hrs in 5 years. 
Working hours of this machinery are as follows: 
Year 1 : 4000 
Year 2 : 6000 
Year 3 : 7000 
Year 4 : 3000 
Calculate the amount of depreciation to be debited in 3rd year. 

 

A. 9,000 B. 14,250 

C. 15,750 D. 8,500 
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Q83. 
1st 
�Pल 2019 �K 
=/, 0O 50,000 �O  0�} �1I?O| 0�}K �? �+0K� 5 9?ल ,� =�0? �? 9�,? :P| 5 9?ल �O  
�, /O �9�? 

1oI /Kल㉍0 
�??�0 5000 :K�?| 5 9?लK /O 0: 0�} 20,000 hrs �?/ �1 9�,? :P| 
0�} �O  �?/ �? 9/0 =0म⹍0?0J9?1 :P: 
9?ल 1 : 4000 

9?ल 2 : 6000 

9?ल 3 : 7000 

9?ल 4 : 3000 

,K -,?�ए 3rd 9?ल /O =�,0I /Kल㉍0्䵩?9 1?=> )O=-ट �10I �?=:ए| 
 

A. 9,000 B. 14,250 

C. 15,750 D. 8,500 

 

Q84. A bill recievable of  1000, which was received from a debtor in full settlement for a 

claim of  1200 is dis-honoured. It will be credited in : 
 

A. Purchase Book B. Purchase Return Book 

C. Bills Receivable book D. Journal Proper 

Q84. ए�  1000 �? �?प⩍0 =-ल �K �+I 9O  1200 �O  ??=O �O  +K+थ .J�,?0 �O  ,L1 +1 =/ल? }? =: +?र1, 0:K :ु�| ,K 0: 
_________ ्䵅O )Iट =�0? �?ए�?| 

 

A. �9I. -AI B. �9I. =?+@  -AI 

C. ्䵚?o} --; -AI D. �90; ्䵚I+9 
 

Q85. A second hand machinery was purchased on credit from Mr. Arora for 100000, it 
should be recorded in : 

 

A. Purchase Book B. Sales Book 

C. Journal Proper D. Cash Book 

Q85. ्䵦I. 
1K1? �I 9O ्䵅O )Iट+1 100000 �O  +J1?0O 0�} �1I?O �ए, ,K �0�? 
=.लO�0 ________ /O :K�?| 
 

A. �9I. -AI B. - रI -AI 

C. �90; ्䵚I+9 D. 0�. -AI 
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Q86. Raw material consumed is equal to : 
 

A. Opening stock of Raw material - Closing stock 

of Raw material - Direct expenses + Purchase 

B. Purchase + Closing stock of Raw material + 

Direct Expenses - Opening Stock 

C. Direct expenses - Closing Stock + Purchases+ 

Opening Stock 

D. None of The above 

Q86. �},O/?ल =�0? �0? �चᩍ�? /?ल _______ �O  -1?-1 :K,? :P| 
 

A. �चᩍ�O /?; �I �9�-.� 9?-> - �चᩍ�O /?; �I >O? 9?-> - 

्䵚m}� }}} + �9I. 

B. �9I. + �चᩍ�O /?; �I >O? 9?-> + ्䵚m}� }}} - �चᩍ�O 
/?; �I �9�-.� 9?-> 

C. ्䵚m}� }}} - �चᩍ�O /?; �I >O? 9?-> + �9I. + �चᩍ�O 
/?; �I �9�-.� 9?-> 

D. �+9I /े䜂 @O �I � .  0AI� 

 

Q87. Depreciation is related to: 
 

A. Current assets B. All fixed Tangible assets 

C. All fixed assets D. Investments 

Q87. /Kल㉍0्䵩?9 _____ 9O 9�-�=/, :P| 
 

A. =,//?0 @�+=्䵈 B. @.  
�;  K@ @�+=्䵈 

C. @.  
�; @�+=्䵈 D. -0=O> 

 

Q88. Which of the following is true about depreciation? 
 

A. It needs to be provided if the market value of 

an asset exceeds the cost of the asset 

B. It can be provided only in case of profit 

C. It cannot be provided in case of loss D. It is to be provided irrespective of the fact 

whether there is profit or loss 

Q88. /Kल㉍0ह?9 �O  -?1O /O =0म⹍0 /O 9O �L09? 9:I :P? 
 

A. }/. +�@  @�+=्䵈 �? -?�?9 /लू㉍} @�+=्䵈 �O  ;?�, /लू㉍} @O 
जᱍ}?.? AK,? AP ,K �@O ्䵚},I, �90O �I �=�}�,? AK,  AP| 

B. -@,/  ;?. �O  /?/;O /े䜂 AI �@O ्䵚},I, �90? +!,? AP| 

C. A?-0 �O  /?/;O /े䜂 �@O ्䵚},I, 0AI� +�}? �? @�,? AP| D. ;?. AK }? A?-0 �@@O -09+O� �@O ्䵚},I, �90? +!,? AP| 
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Q89. Decrease in the value of an asset due to new inventions is known as : 
 

A. Depreciation B. Amortization 

C. Obsolescence D. Revaluation 

Q89. 0� �K� �O  �?1+ 9�+=m �O  /Kल㉍0 /O �/I �,I :P, ,K �9O _______ �:,O :P| 
 

A. /लू㉍}्䵩?@ B. �+/I�], 

C. 
्䵚�;0 D. +I0/ू/ल㉍}?��0 

 

Q90. Rajnikanth and Gopinath are partners, sharing profit and losses in the ratio of 2:3. Having 
Capital of 1,00,000 and 1,60,000 respective. They are entitled to 9% interest on capital 

before distribution of the profit. During the year the firm earned a profit of  15,600 
before allowing any interest on capital. What is the profit apportionment to the partners? 

 

A. 6,240 & 9,360 B. 5,600 & 10,000 

C. 6,000 & 9,600 D. None of the above 

Q90. 1�0I�?�, �1 �K+I0?} 9?�O??1 :P, ल?. �1 :?=0 �K 2:3 �O  
0J+?, /O -??ट,O :P| �0�ी +K?�I ्䵅/>: 1,00,000 �1 1,60,000 

:P| =O ल?. ==,र1, �10O 9O +:लO +K?�I+1 9% बⱍ0?� +?0O �O  :�??1 :P| ए� 9?ल /O �� +0I 0O +K?�I+1 बⱍ0?9 ?O0O 9O +:लO  15,600 

ल?. �/?0?| ल?. �? -?ट=?1? 9?�O??1K /O �P 9? :K�?? 
 

A. 6,240 �9 9,360 B. 5,600 �9 10,000 

C. 6,000 �9 9,600 D. �+9I /े䜂 @O �I � .  0AI� 
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